
ISSN 1066-369X, Russian Mathematics, 2019, Vol. 63, No. 7, pp. 62–74. c© Allerton Press, Inc., 2019.
Russian Text c© The Author(s), 2019, published in Izvestiya Vysshikh Uchebnykh Zavedenii. Matematika, 2019, No. 7, pp. 72–85.

����������	 
������� 
�� �������	� �
 ����� ������	���� �������	�

�
 ��� ����� �����

�� �� �����	
��� �	� 
� 
� ������	����

����� ����	
�� ��
����� �	������
�� �
����
����
�� �	�
	�	�
��� ����� ����� ������ ��

��

�������� ��	 
�� 
�
�� ������� ��	 
�� 
�
�� �������� ���� 
�� 
�
�

����������� ������	�
 ���� 
�� �����	�� ���	����	�
 ��
�	�	�
� ��� �����	�
� �� �	
��� �����
�	����
�	�� �����	�
� �� �
� ���� ������ �� ������� � 
�� �������
 �� ����	
	
� ���	����	�

��
�	�	�
� 	
 �
� ���� �� �
� ����� �	�	� �� � ��
��	�
 �� �����	�
 ����������� �� ����� �
�
�������� �������
 �� �����	�
� �	�
 �
� �
� ������� ��
��
������ ������ �
� �� �
��� �	�
 �
�	���	����� ������ �� ����
������ �
� ����
����� �� �
� ����	
�� ������� ���� �
� ������
��

�
���

�	
� ����������������	���
��



��� ������ ��
���	
�� !�"���
���� �#����	
� !����� 	
�������	
� �"������ �������	
� 
������ !����
�
!�
���$���! !����� ��������� �%%�	����

������������

�	
 ��
� 
��
��
�� �
��
���
�� �� �
��� �
�
�
��
�� 
����
��� ���� ���
���� ��
� ����
��� 
� �	

���� �	�� �
�
�� 
����
��� �� �	
 ���� ���
� ��� 	��
 ���
����
�� �����
��� �� ! �
�
���	 �
�	�
��
�
��� �
��
���
�	
�� ���
����
�� �����
��� �� �
��� 
����
��� ���� �
��"�������� ��
� 	��
 #

� #

��
����
���
����� �
�
��$
� �
��
 �	
 �
���
 �� �	
 %%�	 �
�����! &
��� ���
����
�� ��
�
�
� '
�


���#�
�	
� ��� �
�$�
�� �
��� 
����
���! �	
 ���
 ���$�
���
� ��
 �	
 ����
�
�
� 
����
���(
�	
 ���
 �
)���� 
� �	
 ���* �� 
���#�
�	
�� ���
����
�� ��
�
�
� ��� �	

� �����
���! �� 
� $���
#��
�� �
�
���
+
 ���
 ��
�
�
�( $���
�
� �	�� �	
� ���
��� �
���
� �
��
�
�
��� ���	 �� �	
 
�
��
�

�
�
��#
�
��( �
�$�
�
��( ��� ��������!

�� �	
� $�$
�( '
 ����� �	
 ���
�� �� ���
����
�� ��
�
�
� �	�� �� #��* �� �
����� �#��
�
� 
� �	

,-�	 �� �	
 ���� �
����� 
� $�$
�� �.( / ! 0
� �� �
�
 �	
 �
���� �#��
�
� 
� �	
 �������$	 �1 2'

�
�
���
+
 
� #
��'3!

����
�
� �	
 
����
��
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� �
��
��� [gi(t), t] '
�	 �	�� ��
� �
�� Hi(t) '
 �
�
���
+
 �	
��
� 5
�� �	
��
� C( '	
�
 
��	 ��
)�

�� pi 
� 
��
����
� ��
� 
�� �
�!

8?��$�
 � �
��������
� �	�� �	
��
� 5 ��� #
 ���
� 
� ���
 ���
�( '	
� �	
��
� / 
� ����
!
�� �

' �� �	
 ��
� �#��
( �	
 �����
�
�� �� �
�
��� �
���� ���
���	
�� �	
 
�
��! �	
� ����
��� �	

$���
#
�
�� �� ���#
�
�� �	
 �
���
� �� �	
��
�� A ��� C 
� ��
 ���
��
��!

.!.! ��� �������� 0
� �� ��
 �	
 �
��
��
 �� �����
��� {ak} �
��
� #� �������� 2C3 ��� �	
 ���
��
�� �
�� {Hi} �
��
� #� ������� 2��3!

����� � 2��- 3� ��� x �� 
 �
�	�	 � �
���	
� �
 ��� 2=3� ���� x(t)ak(t, s) ≤ x(s) �
� 
�� k ∈ N0�
s, t ∈ R� 0 ≤ s ≤ t�

������� ��� ������ ��
� �
� �
�� k ∈ N0�

lim
t→∞

m∑
i=1

∫
Hi(t)

pi(s)ak(t, hi(s)) ds > 1.

���� ��� 2=3 	� 
� 
��	��
�	�� 
���

��

�� 9����
 �	�� ��� �����$�
��� �� �	
 �	
��
� ��
 ������
�( #�� �	
 �����
�� x �� 8�! 2=3 
� ���
���
����
��! 7
�	��� ���� �� �
�
���
��( '
 �����
 �	�� �	
�
 
?
��� t0 ≥ 0 ���	 �	�� x(t) > 0 ��� ���
t ≥ t0! ;
��
 ess lim

t→+∞hi(t) = +∞( �	
�
 
?
��� t1 ≥ t0 ���	 �	�� hi(t) ≥ t0 ��� i = 1,m ��� �! �!

t ≥ t0! ;
��
 ẋ(t) ≤ 0 ��� �! �! t ≥ t1( �	
�
 
?
��� t2 ≥ t1 ���	 �	�� x(hi(t)) ≥ x(t) ��� ��� t ≥ t2 ���
i = 1,m6 
� ���
�
��(

m∑
i=1

∫
Hi(t2)

pi(s)ak(t2, hi(s)) ds > 1.

&
�����( �	
�
 ���� 
?
��� t3 ≥ t2 ���	 �	��

m∑
i=1

∫
Si

pi(s)ak(t2, hi(s)) ds > 1,

'	
�
 Si = Hi(t2) ∩ [t2, t3]! �	
�
���
( 
� �

' �� ������� 2=3 ��� 0
��� �(

x(t3) = x(t2) +

∫ t3

t2

ẋ(s) ds = x(t2)−
∫ t3

t2

m∑
i=1

pi(s)x(hi(s)) ds ≤

≤ x(t2)−
m∑
i=1

∫
Si

pi(s)x(hi(s)) ds ≤ x(t2)−
m∑
i=1

∫
Si

pi(s)x(t2)ak(t2, hi(s)) ds =

= x(t2)

(
1−

m∑
i=1

∫
Si

pi(s)ak(t2, hi(s)) ds

)
< 0,

'	
�	 �������
��� �	
 �����$�
��!

����� ! � "#�� "�$� %&�' () !&' * 
�
+
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�	
��
� A �����'� ���� �	
��
� �-! �
����( [g(t), t] ⊂ Hi(g(t)) ��� i = 1,m ��� �! �! t ≥ 0!
����
��
����( 
� ����
�
�� 2�-3 
� ������
�( �	
� �� 
� �	
 ����
�
��

lim
t→∞

m∑
i=1

∫
Hi(g(t))

pi(s)ak(g(t), hi(s)) ds > 1.

�� �
��
�� �� ���
 �	�� g(t) → ∞ �� t → ∞!

@� �?
�� k = 1 '
 �
� �	
 �����'
�� ���
��
��!

��������� �� 0
�

lim
t→∞

m∑
i=1

∫
Hi(t)

pi(s) exp

∫ t

hi(s)

m∑
l=1

pl(τ) dτ ds > 1.

�	
� 8�! 2=3 
� �� ���
����
�� ��
!

;
��
 �	
��
� A �����'� ���� �	
��
� �-( �	
��
� , �����'� ���� ��������� �! �� �	
 ��	
�
	���( 
?��$�
 � �
��������
� �	�� 
�
� ����� 
����
��� 
� ���� 2�3 �	
�
 
?
�� �	��
 '	��

���
����
��� ��
 $���
� 
� ��������� � #�� ������ #
 ��#�����
��
� #� �	
��
� ,! 9� ��� 8�! 2=3(
�	
 �����'
�� 
?��$�
 �
��������
� �	�� ��������� � 
� ���
 
�
��
�
 �	�� �	
��
� , 
�
� 
� �	

���
 �� �������� ��
)�

��� ��� �
����!


������ 	� ����
�
� �	
 
����
��

ẋ(t) +
1

4
x(t− 1) +

1

4
x(t− 2) = 0.

0
� �� �$$�� �	
��
� ,! �� 	���� �	�� g(t) = t− 1(

∫ t

g(t)

m∑
i=1

pi(s) exp

∫ g(t)

hi(s)

m∑
l=1

pl(u) du ds =

∫ t

t−1

1

4

(
exp

∫ t−1

s−1

1

2
du+ exp

∫ t−1

s−2

1

2
du

)
ds =

=
1

4

∫ t

t−1

(
exp

t− s

2
+ exp

t− s+ 1

2

)
ds =

1

4

∫ 2

0
exp

s

2
ds =

e− 1

2
< 1.

��' #� �$$��
�� ��������� � '
 �������
 �	�� H1(t) = [t, t+ 1]( H2(t) = [t, t+ 2](

m∑
i=1

∫
Hi(t)

pi(s) exp

∫ t

hi(s)

m∑
l=1

pl(u) du ds =

∫ t+1

t

1

4
exp

∫ t

s−1

1

2
du ds+

+

∫ t+2

t

1

4
exp

∫ t

s−2

1

2
du ds =

1

4

(∫ 1

0
exp

s

2
ds+

∫ 2

0
exp

s

2
ds

)
=

e
1
2 − 1 + e− 1

2
> 1.

�	
�
���
( �	
 ���#
� �� 
�
���
��� �� �	
��
� �- �	�� ��
 �
�
����� ��� $���
�� �	
 ���
����
��
$��$
��� �� 8�! 2=3 ������ #
 ��
��
� 2#�� ��� #
 �
��3 �	�� �	
 ���#
� �� �
�
����� 
�
���
��� ��
�	
��
� A!

.!/! �
�� �
��
�	�
��� @
���
 ���$��
�� �	
 �
����� �#��
�
� �#��
 '
�	 �
����� �� ��	
� �
�
����
$�#�
�	
� $�$
��( �
� �� �$$�� �	
��
�� �
�
� 
� ;
��
�� � �� �� ���������� 
����
��( 
!
!( �	

�
�$�
�� ���
 �� 8�! 2�3!

0
� p(t) ≡ c = const > 0( h(t) ≡ t− r( ��� r = const > 0! 8�! 2�3 ��*
� �	
 ����

ẋ(t) + cx(t− r) = 0, t ≥ 0. 2�.3

9� 
� *��'� 2�� ( �	! 13( ��� �����
��� �� 8�! 2�.3 ��
 ���
����
�� 
� ��� ���� 
� �	
 �	�����
�
��
�


����
�� λ+ ce−λr = 0 	�� �� �
�� �����( '	
�	 
� 
��
���
�� �� �	
 ����
�
�� cr > 1
e !

����� ! � "#�� "�$� %&�' () !&' * 
�
+



 : $3-.%)"45 6'&/7%)'

@� �$$��
�� �	
��
�� � ��� . �� 8�! 2�.3 '
 �
� �	
 ���
����
�� ����
�
�� cr>1( '	
�
 �	

�$$�
���
�� �� �	
��
� / �
��� �� �	
 ����
�
�� cr > ln 2! 0
� �� $���
 �	�� �	
��
� 1 
�$�

� �	

����
�
�� cr > 1

e !

&������ 213 �
�
� �	
 ����
���
��

ak+1(t, s) = exp

{
c

∫ t

s
ak(τ, τ − r) dτ

}
,

'	
��


a1(t, s) = ec
∫ t
s
dτ = ec(t−s), a2(t, s) = ec

∫ t
s
ecr dτ = e(t−s)cecr , . . . , ak(t, s) = e(t−s)cecre

cr···ecr

.

�
���
 �	
 �
��"	��� �
�
 �� 
�
����
�� 253 #� F (k) = limt→∞
∫ t
g(t) p(s)ak(g(t), h(s)) ds! �� 	����

�	��

F (k) = c lim
t→∞

∫ t

t−r
ak(t, s) ds = c

∫ r

0
ak(r, s) ds =

f(k + 1)− 1

f(k)
, k ∈ N0,

'	
�
 �	
 �
����
�� �
��
��
 {f(k)} 
� � �����
�� �� �	
 $��#�
�

f(k + 1) = (ecr)f(k), f(0) = 1.

B�� u(x) = ecrx − x! �� cr > 1
e ( �	
� min

x≥0
u(x) > 0( ����
��
����( inf

k∈N0

f(k + 1)− f(k) > 0( ���

�	
�
���
 f(k) → +∞ �� k → ∞! 4
��
( �
��
 ecrx

x → +∞ �� x → +∞( '
 �������
 �	��

F (k) =
(ecr)f(k) − 1

f(k)
→ +∞ '
�	 k → ∞.

@� �	
��
� 1 8�! 2�.3 
� �� ���
����
�� ��
!

<��
��
�( �	
��
� 1 �
��������
� �	�� �	
 ���
����
�� ����
�
�� cr > 1
e 
� 
?���! �
����( ����
�
�

�	
 ���
 '	
� cr ≤ 1
e ! �	
� �	
�
 
?
��� x1 ∈ (1, e] ���	 �	�� u(x1) = 0! �� 	���� �	�� f(0) = 1 < x1(

��� 
� f(k) < x1( �	
� f(k + 1) = ecrf(k) < ecrx1 = x1( '	
��
 
� �

' �� �	
 
�����
�� $�
��
$�
(

f(k) < x1 ≤ e ��� ��� k ∈ N0! ��
 ��� 
��
�� �

 �	�� �	
 �����
�� v(x) = ecrx−1
x 
� 
���
��
�� ��

�	
 �
��
�� [1, e]( ����
��
����( ��� ��� k ∈ N0(

F (k) = v(f(k)) ≤ v(e) ≤ e− 1

e
< 1.

9��
� $�#�
�	
�� �	
 $�$
� ��- ( 
� 
��
����
���� $�
�� �	
�
 	��
 �$$
��
� �
�
��� $�$
�� '	��

���	��� ���
�
� �� 	��
�� ���
���	
�
� �	
��
� A! <��
��
�( �	
� #
�

�
� �	�� 
��	 �
' �
� ��
����
�
��� 
����
�� �	
 ���
����
�� �� 8��! 2�3 ��� 2=3 G
�$���
� ��� *��'� �
�����H!

������� �� 2��. 3� ��� p0(t) = p(t) 
�! �
� 
�� k = 0, 1, 2, . . . �

pk+1(t) = p0(t)

[
1 +

∫ t

h(t)
p0(s) exp

(∫ g(t)

h(s)
pk(τ) dτ

)
ds

]
. 2�/3

"� �
� �
�� k ∈ N0�

lim
t→∞

∫ t

g(t)
p0(s) exp

(∫ g(t)

h(s)
pk(τ) dτ

)
ds > 1, 2�13

���� ��� 2�3 	� 
��	��
�	���

�	
 �����'
�� 
?��$�
 �
��������
� �	�� �	
��
� �� ��
� ��� ����' ��
 �� �
� �	
 ���
����
��
��
�
�
�� cr > 1

e ��� �	
 ���������� 
����
�� 2�.3!

����� ! � "#�� "�$� %&�' () !&' * 
�
+
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������ 
� ����
�
� �	
 
����
��

ẋ(t) +
1

5
x(t− 2) = 0, t ≥ 0. 2�53

;
��
 cr = 1
5 · 2 > 1

e ( 8�! 2�53 
� ���
����
��!

0
� �� �$$�� �	
��
� �� �� �	
� 
����
��! ;
��
 p(t) ≡ p0 = const ��� h(t) ≡ g(t) = t− 2( 
�
�

' �� �
��
�
�� 2�/3 ��� �	
 
�����
�� $�
��
$�
( pk(t) ≡ pk = const ��� ��� k ∈ N06 	
�


pk+1 =
1

5

[
1 +

∫ t

t−2

1

5
exp

(∫ t−2

s−2
pk du

)
ds

]
=

1

5

(
1 +

1

5

∫ 2

0
epks ds

)
=

1

5

(
1 +

e2pk − 1

5pk

)
.

�
���
 f(x) = e2x−1
x ! ��
 ��� 
��
�� �

 �	�� f(x) 
� 
���
��
�� ��� x > 0! ����
��
����( 
�

pk ∈ (0, 12)( �	
�

0 < pk+1 =
1

5
+

1

25
f(pk) <

1

5
+

1

25
· f
(
1

2

)
=

1

5
+

1

25
· 2(e− 1) <

1

2
.

;
��
 p0 =
1
5 ∈ (0, 12)( '
 �������
 �	�� pk ∈ (0, 12) ��� ��� k ∈ N0!

0
� �� �
�
�� 
�
����
�� 2�13! �� 	���� �	��

lim
t→∞

1

5

∫ t

t−2
exp (pk · (t− s)) ds =

1

5

∫ 2

0
epks ds =

e2pk − 1

5pk
=

f(pk)

5
<

f
(
1
2

)
5

=
2(e − 1)

5
< 1.

��
����
�� 2�13 
� �
����
� '
�	 ��� k ∈ N0( ����
��
����( �	
��
� �� 
� 
��$$�
��#�
 �� 8�! 2�53!

�� ��#�
��
�� $�$
��( �	
��
� �� '�� �
��
� #� 
���
��
�� �	
 ���#
� �� 
��
����� 
�
�������� 2�/3 ��� 2�13 ��� #� �
��
�� �	
 �����
�� p0! �	
 �
���� '�� �$$�

� #��	 �� 8�! 2�3
��� �� 8�! 2=3!

������� �	 2��/ 3� ���

◦ h(t) = maxi hi(t)� i = 1,m� 
�! P (t) =
∑m

j=1 pj(t);

◦ α = lim
t→+∞

t∫
h(t)

P (s) ds 
�! ��� λ = λ0 �� ��� ��
�� �

� 
� ��� ���
�	
� λ = eαλ;

◦ P0(t) = λ0P (t) 
�! �
� 
�� k = 0, 1, 2, . . .

Pk+1(t) = P (t)

[
1 +

∫ t

h(t)
P (s) exp

(∫ t

h(s)
P (u) exp

(∫ u

h(u)
Pk(v) dv

)
du

)
ds

]
. 2�=3

"� �
� �
�� k ∈ N0 	� �
�!� ��
�

lim
t→∞

∫ t

g(t)
P (s) exp

(∫ g(t)

h(s)
P (u) exp

(∫ u

h(u)
Pk(v) dv

)
du

)
ds > 1, 2�,3

���� ��� 2=3 	� 
��	��
�	���

�	
 �
?� 
?��$�
 �
��������
� �	�� �	
��
� �. �
�
���
+
� �

�	
� �	
��
� A( ��� 
�
�
�	
��
� ,! �	
 �
���� 
� ��������� �� �	
 �
��
��
� �#��
 $��$
��� �� �	
��
� =( ���
��(
�	
 �
��"	��� �
�
 �� 
�
����
�� 2�,3 ��
� ��� ���' '	
� ���
 �����
��� ����� hi �
�
�
�	!

����� ! � "#�� "�$� %&�' () !&' * 
�
+
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������ �� ����
�
� �	
 
����
��

ẋ(t) +
1

10
(x(h1(t)) + x(h2(t))) = 0, t ∈ R+, 2�A3

'	
�


h1(t) =

{
t− 1, t ∈ [2n, 2n + 1);

t− 12, t ∈ [2n+ 1, 2n + 2),
h2(t) =

{
t− 12, t ∈ [2n, 2n + 1);

t− 1, t ∈ [2n+ 1, 2n + 2).

0
� �� �$$�� �	
��
� ,! ;
��
 g(t) ≡ t− 1( '
 �������
 �	��

lim
t→∞

∫ t

g(t)

m∑
i=1

pi(s) exp

∫ g(t)

hi(s)

m∑
l=1

pl(u) du ds = lim
t→∞

1

10

∫ t

t−1

(
2∑

l=1

exp
1

5

∫ t−1

hl(s)
du

)
ds ≥

≥ 1

10

∫ t

t−1

(
exp

1

5
(t− s+ 11) + exp

1

5
(t− s)

)
ds =

1

2

(
exp

12

5
− exp

11

5
+ exp

1

5
− 1

)
> 1.

@� �$$��
�� �	
��
� C( '
 �
� �	
 ����
���
��

lim
t→∞

m∑
i=1

∫
Hi(t)

pi(s) ds = lim
t→∞

∫ t+1

t

1

10
ds+

∫ t+12

t

1

10
ds =

13

10
> 1.

�	
�
���
( �	
��
� ,( 
! 
!( �	
 �
�� ���� 
�
���
�� �� �	
��
� A( �� '
�� �� �	
��
� C ����' ��
�� �
�
�� �	
 ���
����
�� �� 8�! 2�A3!

0
� �� ��' �$$�� �	
��
� �.! ;
��
 p(t) ≡ p0 =
λ0
5 = const ��� h(t) = t− 1( 
� �

' ��

�
��
�
�� 2�=3 ��� �	
 
�����
�� $�
��
$�
( �	
 ����
���
�� Pk(t) ≡ pk = const 
� ���
� ��� ��� k ∈ N0(
���

pk+1 =
1

5

[
1 +

∫ t

t−1

1

5
exp

(∫ t

s−1

1

5
exp

(∫ u

u−1
pk dξ

)
du

)
ds

]
=

=
1

5

[
1 +

1

5

∫ t

t−1
exp

(
1

5
epk(t− s+ 1)

)
ds

]
=

1

5

[
1 +

e
2
5
epk − e

1
5
epk

epk

]
.

�� 	���� �	�� α = lim
t→∞

t∫
t−1

1
5 ds =

1
5 ! �	
 �
��� ���� λ0 �� �	
 
����
�� λ = e

λ
5 ���
��
� �	



�
����
�� λ0 < 5( '	
��
 p0 =
λ0
5 < 1!

�
���
 f(x) = e
2x
5 −e

x
5

x ! ��
 ��� 
��
�� �

 �	�� f(x) ���'� '
�	 x > 0! �� pk ∈ (0, 1)( �	
�

0 < pk+1 =
1

5
[1 + f(epk)] <

1 + f(e)

5
=

1 + e
2e
5
−1 − e

e
5
−1

5
< 1.

9�����
�� �� �	
 
�����
�� $�
��
$�
( '
 �������
 �	�� pk < 1 ��� ��� k ∈ N0!

0
� �� �
�
�� ����
�
�� 2�,3! �� 	���� �	��

lim
t→∞

∫ t

t−1

1

5
exp

(∫ t−1

s−1

1

5
exp

(∫ u

u−1
pk dv

)
du

)
ds =

1

5

∫ 1

0
exp

epks

5
ds =

e
1
5
epk − 1

epk
.

�	
 �����
�� f1(x) =
e
x
5 −1
x 
� 
���
��
�� �� �	
 
��
���� (1, e)( ����
��
����( ��� pk < 1(

f1(e
pk) ≤ f1(e) =

e
e
5 − 1

e
< 1.

�	
�
���
( �� 
�
���
�� �� �	
��
� �. ����'� ��
 �� �
�
�� �	
 ���
����
�� �� 8�! 2�A3!
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������� �� $�$
�� ��. ��� ��/ ( ��
 ����

� 8�! 2=3 ���
� �����'
� �����$�
��� �	�� �	��

����
�
�
� 
� �	
� $�$
�( ���
��( �����
��� pi ��� hi ��
 �����
� �� #
 ����
�����! 4�'
�
�( 
�

� 
�
�
�� �	�� ��
 ��� ��*
 �����
��� h1 ��� h2 
� 8�! 2�A3 ����
����� '
�	��� �
����
�� �	


��
���
� �#��
�
� 
� 
?��$�
 1!

/! 9 ��;���@��8� �809: 8E�9����

0
� �� ��� ��� '	
�	
� �	
 �����$�
�� �� �	
 �
��� ����
�����
�� 
� 8�! 2�3 2���
 
� �	
��
�� �I
53 
� 
�$������! 9���	
� ��
��
�� 
� '	
�	
� �	
��
�� 1 ��� 5 ��� #
 �
�
���
+
� ��� 
��
���"
�
�
�
��
�� 
����
��� ��� 
����
��� '
�	 �
���
#��
� �
���!

/!�! ��� �
	� ������� ����
�
� �	
 �����
���� �
�
�
��
�� 
����
��

ẋ(t) +

∫ t

h(t)
x(s) dsr(t, s) = 0, t ≥ 0, 2�C3

���
� �	
 �����'
�� �����$�
���> �	
 �����
�� r (t, ·) 	�� � #����
� ���
��
��( r(t, 0) = 0( �	

�����
�� ρ(t) = varh(t)≤s≤t r(t, s) 
� ������� �����#�
( �	
 �����
�� h(t) 
� �
�����#�
( h(t) ≤ t( ���
�	
 
��
���� 
� ���
������ 
� �	
 �

����I;�

��D
� �
��
!

�� '	�� �����'�( '
 �����
 �	�� �	
 �����
�� r(t, ·) 
� �������
����� 
���
��
�� ��� lim
t→+∞h(t) =

+∞!

8�! 2�C3 
�����
� 8��! 2�3 ��� 2=3 �� $���
����� ���
�! �	
 �
��
�
�� �� � �����
�� �� 8�! 2�C3
�
�#��
� �
$
��� �	
 �
��
�
��� ��� 8��! 2�3 ��� 2=3! ���
� �������� ���
$�
� �����$�
���( ���
��� #����
� @��
� 
�
�
�� �����
��( 8�! 2�C3 	�� � ��
��
 �����
��!

9���������� �� ������� 2C3( '
 $��

P0(t, s) = 1, Pk+1(t, s) = exp

{∫ t

s

(∫ ζ

h(ζ)
Pk(ζ, η) dηr(ζ, η)

)
dζ

}
, k ∈ N0.

;
�
����� �� 0
��� �( '
 �
���
 �	
 �����'
�� ���
��
��!

����� 	� ��� x �� 
 �
���	
� �
 ��� 2�C3 
�! x(t) > 0 �
� t ≥ t0� ���� ����� �#	��� t1 ≥ t0 ����
��
� �
� t ≥ s ≥ t1 	� �
�!� ��
�

x(t)Pk(t, s) ≤ x(s). 2.-3

��

�� 9$$��
�� �	
 
�����
�� $�
��
$�
 '
�	 �
�$
�� �� k( '
 �
'�
�
 8�! 2�C3 
� �	
 ����

ẋ(t) + ρ(t)x(t) =

∫ t

h(t)
(x(t)− x(η)) dηr(t, η).

;
��
 '
�	 t ≥ t0 �	
 �����
�� x(t) 
� �������
����� �
��
��
��( 
� 	���� �	�� x(t) ≤ x(η)( ����
"
��
����( ẋ(t) + ρ(t)x(t) ≤ 0! @� �	
 �������

x(t) = exp

(
−
∫ t

t0

ρ(ζ) dζ

)
x(t0) +

∫ t

t0

exp

(
−
∫ t

s
ρ(ζ) dζ

)∫ s

h(s)
(x(s)− x(η)) dηr(s, η) ds,

'
 �
� �	
 �����'
�� �
$�
�
����
�� �� �	
 �����
��>

x(t) ≤ x(s) exp

(
−
∫ t

s
ρ(ζ) dζ

)
= x(s)P1(t, s),


! 
!( ��� k = 1 �	
 ���
��
�� �� �	
 �
��� 
� ���
�!

9����
 �	�� 
�
����
�� 2.-3 
� ���
� ��� ���
 k≥1! �	
� x(t)Pk(t, η)≤ x(η)( ����
��
����(

ẋ(t) + x(t)

∫ t

h(t)
Pk(t, η) dηr(t, η) ≤ 0.
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�
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9$$��
�� �	
 J��'�'���I@
����� 
�
����
��( '
 �������
 �	��

x(t) ≤ x(s) exp

{
−
∫ t

s

(∫ ζ

h(ζ)
Pk(ζ, η) dηr(ζ, η)

)
dζ

}
.

��*
�� 
��� ������� �	
 �
��
�
�� �� Pk+1( '
 �������
 �	�� x(s) ≥ x(t)Pk+1(t, s)!

9� 
� ;
��
�� �( '
 �
���
 H(t) = {s | h(s) ≤ t ≤ s}!

������� �
� "� ��� 	����
�	��

lim
t→∞

∫
H(t)

∫ t

h(s)
Pk(t, η) dηr(s, η) ds > 1

	�  
�	! �
� �
�� k ∈ N0� ���� ��� 2�C3 	� 
��	��
�	���

��

�� 9����
 �	�� �	
 �
�
�
� ���
��
�� 
� ����
( 
! 
!( �	
 �����
�� �� 8�! 2�C3 �
��
�� $��
�
�
(
#
�
��
�� '
�	 ���
 $�
��! ;
��
 lim

t→+∞h(t) = +∞( �	
� �����
�� 
� �������
����� �
��
��
��(

#
�
��
�� '
�	 ���
 $�
�� T ! 7
�	��� ���� �� �
�
���
��( '
 �����
 �	��∫
H(T )

∫ T

h(s)
Pk(T, η)dη(s, η) ds > 1.

&������ 2�C3 
�$�

� �	��

x(t) = x(T )−
∫ t

T

∫ s

h(s)
x(η) dηr(s, η)ds > 0, t ≥ T.

��
�� �	
 
�����
�� H (T ) ⊂ [T,∞) ��� �	
 �
��
�
�� �� �	
 �
� H(T )( '
 �������
 �	��

x(T ) ≥
∫ ∞

T

∫ s

h(s)
x(η) dηr(s, η) ds ≥

∫
H(T )

∫ s

h(s)
x(η) dηr(s, η) ds ≥

∫
H(T )

∫ T

h(s)
x(η) dηr(s, η) ds.

@� 0
��� . 
� 	���� �	�� x(η) ≥ x(T )Pk(T, η)( ����
��
����( ��*
�� 
��� ������� ����
�
��� �� �	

�	
��
�( '
 �������
 �	��

x(T ) ≥
∫
H(T )

∫ T

h(s)
x(η) dηr(s, η) ds ≥ x(T )

∫
H(T )

∫ T

h(s)
Pk(T, η) dηr(s, η) ds > x(T ),

'	
�	 
� 
�$���
#�
!

��������� 	� ��

lim
t→∞

∫
H(t)

∫ t

h(s)
dηr(s, η) ds > 1,

�	
� 8�! 2�C3 
� ���
����
��!

��

� �����'� ���� �	
 
�
�
�� 
�
����
�� Pk(t, η) ≥ 1 ��� �	
 �������
�
�� �� �	
 �����
�� r(t, ·)!
&�� 8�! 2�3 ��������� . ��
��
�
� '
�	 �	
��
� 5!

/!.! ��� 	�����
�!	$�����	
� ���
�	
�� ����
�
� �	
 
����
��

ẋ(t) +

∫ t

h(t)
k(t, s)x(s) ds = 0, t ≥ 0, 2.�3

'	
�	 
� � $���
����� ���
 �� 8�! 2�C3!
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�
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&�� 8�! 2.�3 �����
��� Pk(t, s) ��*
 �	
 ����

P0(t, s) = 1, Pk+1(t, s) = exp

{∫ t

s

(∫ ζ

h(ζ)
Pk(ζ, η)k(ζ, η) dη

)
dζ

}
, k ∈ N0.

9$$��
�� �	
��
� �/ �� 8�! 2.�3( '
 �
���
 �	
 �����'
�� ���
����
�� ����
�
���!

������� ��� ��� k(t, s) ≥ 0� "� ��� 	����
�	��

lim
t→∞

∫
H(t)

∫ t

h(s)
Pk(t, η)k(s, η) dη ds > 1

	�  
�	! �
� �
�� k ∈ N0� ���� ��� 2.�3 	� 
��	��
�	���

�	
��
� �1 
�$�

� �	
 '
��"*��'� ���
����
�� ����
�
��� ��� 8�! 2.�3!

��������� 
 2��1 3� 0
� k(t, s) ≥ 0! ��

lim
t→∞

∫
H(t)

∫ t

h(s)
k(s, η) dη ds > 1,

�	
� 8�! 2.�3 
� ���
����
��!

��

� �����'� ���� �	
 
�
�
�� 
�
����
�� Pk(t, η) ≥ 1 ��� �	
 ����
���
�
�� �� �	
 �����
��
k(t, s)!

�� �	
 $�$
� ��5 ( ��
 ����
�
�� �� 
����
�� '
�	 � �
���
#��
� �
��� ����
� �
�
�
���� ����
8�! 2.�3( ���
��(

ẋ(t) +

∫ b(t)

0
R(t, s)x(t− s) ds = 0, t ≥ 0. 2..3

4
�
 �	
 �����
�� b 
� ����
����� ��� $��
�
�
 �� �	
 �
�
�?
� [0,∞)( '	
�
 �	
 �����
�� R 
�
$

�
'
�
 ����
����� �� �	
 �
��
�� [0,∞)× [0, b(t)]!

������� �� 2��5 3� ��� R(t, s) ≥ 0� lim
t→∞ (t− b(t)) = ∞ 
�! ��� ��� �����	
� b �� �
�
�
�	�
���

	����
�	�� 
� [0,∞)� "�

lim
t→∞

∫ b(t)

0

∫ t+s

t
R(η, s) dη ds > 1,

���� ��� 2..3 	� 
��	��
�	���

0
� �� $���
 �	�� �	
��
� �5 �����'� ���� ��������� /! ���
 �	�� ��
 ��� �
���
 8�! 2..3 ��
���� 2.�3 #� �	���
�� ���
�#�
� t− s = τ 
� �	
 
��
���� ��� ��
�� �
�����
��� t− b(t) = h(t) ���
R(t, t− τ) = k(t, τ)!

;
��
 �	
 �����
�� b 
� �������
����� 
���
��
��( 
� 	���� �	�� b(η) ≥ b(t) ��� η ≥ t( ��� 
�
t ≤ η ≤ t+ b(t)( �	
� η− b(η) ≤ t ≤ η( ����
��
����( η ∈ H(t)! ;
��
 �	
 �����
�� R 
� ����
���
�
(
'
 �
� �	
 �����'
�� �	�
� �� 
�
����
�

�>

∫ b(t)

0

∫ t+s

t
R(η, s) dη ds =

∫ t+b(t)

t

(∫ b(t)

η−t
R(η, s) ds

)
dη =

=

∫ t+b(t)

t

∫ t

η−b(t)
R(η, η − τ) dτ dη ≤

∫ t+b(t)

t

∫ t

h(η)
k(η, τ) dτ dη ≤

∫
H(t)

∫ t

h(η)
k(η, τ) dτ dη,

'	
��
 
� �����'� �	�� �����$�
��� �� �	
��
� �5 
����
 �	
 ���
�
�� �� ����
�
��� 
� ��������� /!
�	
 ����
��
 ���
��
�� 
� ����
( #
����
 �	
 �������
�
�� �� �	
 �����
�� b(t) = t−h(t) 
� ��������� /

� ��� �
��
�
�!
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